FEZE 5
3.2 ENDEIRREIRE

1. B’ R1ZHWS. a =001 &Y 2(a/2) = 2(0.005) = 2.5758. F7=, n =100, T =
170.2, o0 =5 &b, 99%EHEX X

) 5
170.2 — 0 X 2.5758 = u £ 170.2 + 0 X 2.5758 s 689 1715

TH5.

2. ANR1EHAVS. a=0.05%D 2(a/2) = 2(0.025) = 1.96. F7=, n =320, == 2020,
o=160 XV, 95%[SHEXEZX

160 160
2020 —m —— x 1.96 < 1 <2020+ —— x 1.96 c 2002 < <2038
/320 =H= /320 =H=
TH 5.

3. AR1EAVS. a=01%D 2(a/2) = 2(0.05) = 1.6449. %7, n =170, & = 57,
oc=20&D, 90%EHEXE X

57 — % x 1.6449 < pu < 57+5—$_0 x 1.6449 s 53< <6l
TH5.
4. 21 XD, BAEEXE OMEA 2cm LUTFIZK 2 720121,
o- Z(O—\/Oﬁ%) <2
THIUX LW, 0 =6, 2(0.025) =196 £ D,
Vn = 6x1.96 =11.76 c. n=>138.29

2D, 139 NHIE T X,
5. N1 &Y, 99%EHEXE DMED 20 RFfELL T2 5 729121,
2(0.005)
0’ - —_——
vn
ThIuT L. o =120, 2(0.005) = 2.5758 & b,

120 x 2.5758
N X1—o =3091 . n29554

27, 956 fEHEIE TAUX .

6. FHEOEEXEICOVWTIEAR2EZH WS, a =01, n =8, z = 3505, u? =
0.8057, u = 0.898, t7(0.1) =1.895 &b, FHHED 90%FHE X ML
0.898 0.898

3505 — —— x1.895 < 1 <350.5 4+ —— x 1.895 c3498 < 1, £ 351.2
VB =H= VB ==

1

<920



TH5. THOBEXENCOVWTIEAR S ZHWVS. v2(0.05) = 14.07, x2(0.95) = 2.167
&b, D R EHEX X
W§02§w 0.40 < 0?2 <261
14.07 2.167
TH5.

7. FHHEOBEXEICOVWTIEAKX 2 ZHWS. a =005, n=10, 7 = 624, u*> =
37.6178, u = 6.133, t9(0.05) =2.262 £ b, FEMED 95%(ZHH X K&

6.133 6.133
624 — —— %2262 < pu <6244 —— %2262 . 58.0=< pu<66.8

V10 V10
TH5. THOBHEXENICOWTIERAR S ZHWS. x3(0.025) = 19.02, x3(0.975) = 2.7
£D, FED 5N EFHEX
9 x 37.6178 <2< 9 x 37.6178 L 178< 6 < 1954
19.02 2.7
TH3.

8. AR3IEMAVS. n =400, a =001, =360, u=>5005 za/2) =25758X%D,
99N EREX I

360 — 5005 X 2.5758 < p < 360 + 5005

X 2.5758 oo 359.3 < £ 360.7

TH3.

9. ”XX3ZMHWVWS. n=150, a =002, 7=1232, u=271, z(a/2) =2.3263 £V,
98% 5 HA X ]I

V150

V150

122.6 < 1 < 123.8

123.2 — X 2.3263 < pu < 1232+ X 2.3263

TH5.

10. 2"X4ZHWVS. py=0.612, n=1000, a =02, z(a/2)=1.2816 &b, 80%IE4H
X

0.612 x (1 — 0.612) \/0.612 x (1 —0.612)
612 — 1.2816 < pu < 0.612 1.2816
0.6 \/ “000 x 1.2816 < pu < 0.612 + 000 X

0.592 < u < 0.632

ThH5.
11. 2’4 ZHWS. py = 04288, n =800, a = 0.05, 2(a/2) =1.96 &b, 95%(F4H#
X FE X
0.42875 x (1 — 0.42875
0.42875 — \/ X )« 1.96
800
0.42875 x (1 — 0.42875
< 1 < 0.42875 + \/ X )+ 1.06
800
0.394 < pu < 0.463
ThH5.



